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Lesson 8 section 1

spider LS
web KM &
explode (4 ) explosion 1BRFT D
landmine HhE
badly V&L
injure ThHESE5 17 were badly injured
18 There may be as
as many as ~ no less than ~3M many as 120 million of
these terrible weapons
19 The kid as young as b AN (EE s
weapon HEs 4 vears old can make a AN DMEEFEEDFED
complicated calculation. T
20 In as early as the - .
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vear 1600 England had a :foofﬁtl’ ERALL N
train service. T
step on BHDITD
=tell the 21 tell a solider from a
tell A from B difference AEBERXFIT S child, a cow or an
between A and B elephant
22 tell the difference
between a soliders and,
a child and a cow
acive TEENRY 23 remain acitve
24 The movement to
remove landmines is
said to have started in
the 1990s.
25 He is believed to
have been a
professional basketball
player before.
Sinstitution/organ
agency ization PR
clear RETH-BMYED
clear A of B 26 clear the desk of
books
rob/deprive A of \; - 27 rob her of a big
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29 It is not that(=so)
simple.
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1 There may be as

2 Mines can't tell

3 The movement to remove

4 No single government or agency




